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2.6 Chain Rule

Standards :

MCDZ

MCDZA
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# Composition of Functions

LetswnsiderthefnnctionsifKt-2xt1andgkkx3.Performthefollowingtasks.1OfogW-fGlxD-2lxYt1i2x3t1@goffy-gtfW-C2xt1j33OfofW-flflxH-2Kxt1H1-4xt2t1-4xt340gogW-gGlxD-lxY-x9Areanyofthefollowlngfunctimsacompositimoffunotins7.Ifso.sta1etheamposition.1Onxo32Olx2tSP30rX4Osinl4DfW-x2tSfw.x

} fktsinlx )
gW=x3 gait gW=4X

Dusk �6� .pt#7Otanlsinx)8Owslnx)
( rewrite ) flxktanx fcxknx

t.co/y3fH=xIglxI=sihxgw=nxHXKWSX
glx )=x3 gH=t4t1
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newt Chain Rule

We 've been able to find derivatives of functions such as fW=x2
& ga -

- sink )
. However, What if we wanted to differentiate

such functions like ftp. Fte and glxk (xttanxfb ?

We need a technique to help us determine the derivative of
the composition of functions .

Let's note
. . .

Since functions fatwa & gkdtxitanxjtb are compositions,
we can use a leohniqne called the Ehatnrnk

.

Let's consider KK) = flglx)) .

Find the denvake
.

dkxtx
'
⇒ need a find derivative

.

d

dktxt.dgakT-dkglx.d9At-dfgtyxYD.dyYdXddxdhmulliplyCHHNRu@7t.t
'

=f' BY ) . gkx)

¥ HGKD = f1E×l°9km
In T
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¥FIGHT f
'

GKD . ghxj

What is the outside & inside function of floret &

gcxtfx3ttanxP62.aDfCxj.A2I-0htside4notimifcxhxr-msidefunotimiglxkx41@glxHfx3.t

and
't - Outside function : ftp.xtb

- inside function . .gl#x3ttanx

Example D Find the derivatives of the functions .

�1� ftp..fi + tanDH

f 'W= 76 ( It tan XM . Bxttseix )

�2� ft = txt Rewrite = (5+1)
't

f 'W=±z(x2t 15h . (4)

=×(x2+1j's

#X41⇒
⇐it
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�3� ¥ six = WSQY . (2×1
=  2×005 (xy

�4� flxksinx Rewrite ( sing

ftp.2sinx.ws/=2sinxoosx

�5� fHj= (×3 . 1) 100

f 'lD= 100 ( x
' -19 .

(3×2)=300×4×3.19

�6� fkHtEI9
ftxs=qtt⇒8 . to'2tt¥#¥⇒ ,


